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load("d.mac")$

Armatreix(10:)]1:[1,2):11;8]);
b:transpose(matrix([3,-3,3]1));
addcol(transpose(A) .A,transpose(A).b);

rref(%)s
Xxls:col(%,3);
b-A.xls;
transpose(%) .A;
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7 (%1215) T(p) :=t*diff(diff(p,t),t)+ps

genmatrix(lambda([i,j],coeff(T(t~(j-1)),t,(i-1))).,4.4);
determinant(%) ;
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" (%1133) A:matrix([-7,31,[-18,8]);
X:A-1*ident(2);
determinant(%); ratsimp(%);
ss:solve(%,1);
substitute(ss[1l],X);
rref(%);
substitute(ss[2],X);

rref (%) ;
ee:eigenvectors(A);
S:itranspose(matrix(ee[2][1]1[1],ee[2]1[2]1[1]));
invert(5);
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